

$$(1! + 2! + 3! + \dots + n!)(1! + 2! + 3! + \dots + n!)$$

$$1 + 2 + 3 + \dots + n = V \times \frac{1^2 + 2^2 + \dots + n^2}{4}$$

$$V \times 4 = 4(2)$$

المسألة ١١

$$\left(\frac{\sqrt{r} + \sqrt{s}}{\sqrt{r} + \sqrt{s}} \right) \left(\sqrt{r} - \sqrt{s} - \sqrt{r} + \sqrt{s} \right)$$

$$\frac{\sqrt{r} + \sqrt{s}}{\sqrt{r}(\sqrt{s} + \sqrt{r})} \times \frac{1}{\sqrt{r}} \times \sqrt{(\sqrt{r} - \sqrt{s})^2} \Rightarrow$$

$$r - \sqrt{s} + r + \sqrt{s} - r(r) =$$

$$r + r - r = r \Rightarrow \sqrt{r}$$

$$\frac{1}{\sqrt{r}} \times \sqrt{r} = 1$$

$$\frac{1}{\sqrt{(r + \sqrt{s})}} \times \frac{1}{\sqrt{(1 + \sqrt{s})}} \Rightarrow$$

$$\frac{1}{\sqrt{r + \sqrt{s}}} \times \frac{1}{\sqrt{1 + \sqrt{s}}} = \frac{1}{\sqrt{r}}$$

$$\frac{r\sqrt{r} - 1}{r + \sqrt{r}} \times \frac{r - \sqrt{r}}{r - \sqrt{r}} = \frac{r\sqrt{r} - 1}{r + \sqrt{r}} = \sqrt{r} - 1$$

$$\frac{1}{r - \sqrt{r}} \times \frac{r + \sqrt{r}}{r + \sqrt{r}} = \frac{r + \sqrt{r}}{1}$$

$$r\sqrt{r} - 1 + r + \sqrt{r} = r\sqrt{r} + 1$$

$$\frac{r\sqrt{r} + r\sqrt{r}}{r - \sqrt{r}} \times \frac{r + \sqrt{r}}{r + \sqrt{r}} = \frac{(r\sqrt{r} + r\sqrt{r})(r + \sqrt{r})}{r - \sqrt{r}}$$

$$\frac{19\sqrt{r} + 19\sqrt{r}}{19} = \sqrt{r} + \sqrt{r} - \sqrt{r} - 1 =$$

$$r \times \frac{1}{\sqrt{r} - 1} \times \frac{\sqrt{r} + 1}{\sqrt{r} + 1} = \frac{\sqrt{r} + 1}{r} \times r = \sqrt{r} + 1$$

$$\sqrt{r} - 1$$

$$\frac{r}{\sqrt{r}} \times \frac{1}{\sqrt{r}} \times \frac{1}{\sqrt{r}} \times \frac{1}{\sqrt{r}} =$$

$$\frac{1}{\sqrt{r}} \times \frac{1}{\sqrt{r}} \times \frac{1}{\sqrt{r}} \times \frac{1}{\sqrt{r}} = \frac{1}{\sqrt{r}}$$

$$\Rightarrow r \times r = 1$$

$$\frac{\sqrt{1 + \sqrt{r}} + \sqrt{r} - 1}{\sqrt{r} - \sqrt{r}} = \frac{\sqrt{(\sqrt{r} + 1)} + (\sqrt{r} - 1)}{\sqrt{r} - \sqrt{r}}$$

$$\frac{\sqrt{r\sqrt{r} + r\sqrt{r}}}{\sqrt{r} - \sqrt{r}} \times \frac{\sqrt{r} + 1}{\sqrt{r} + 1} =$$

$$\frac{\sqrt{r(\sqrt{r} + \sqrt{r})}}{1} = \sqrt{(1 + \sqrt{r})} = r + \sqrt{r} - 1 = \sqrt{r}$$

$$\frac{r^2(1 + r + r^2 + r^3 + r^4 + r^5)}{r^2 - r(1 + r + r^2 + r^3 + r^4 + r^5)} = 8r \Rightarrow r^2(1 + r) = r^2(r^5 + r^4 + r^3 + r^2 + r + 1)$$

$$\Rightarrow r^{m-2} = r^{m-1}$$

$$m - 2 = 0$$

$$m = 2$$

$$\left(\frac{(\sqrt{y+1} + \sqrt{y-1}) - 2\sqrt{y}}{(\sqrt{y+1} + \sqrt{y-1}) + 2\sqrt{y}} \right)^r \Rightarrow$$

$$(\sqrt{y+1} + \sqrt{y-1})^r - 2\sqrt{y} \Rightarrow \sqrt{y+1} + \sqrt{y-1} + 2\sqrt{y} - 2\sqrt{y} = (\sqrt{y+1} - \sqrt{y-1})^r$$

~~$$\Rightarrow \sqrt{y+1} + \sqrt{y-1} = 2\sqrt{y}$$~~

$$2\sqrt{y} + 1 = \sqrt{y+1} - \sqrt{y-1}$$

$$14 - 14\sqrt{y} = 14(y - \sqrt{y})$$

$$(t = 14)$$

$$A = r^{\frac{1}{2}} \times r^{\frac{1}{2}} \times r^{\frac{1}{2}} \times r^{\frac{1}{2}} \times r^{\frac{1}{2}} \times r^{\frac{1}{2}} \times r^{\frac{1}{2}} \times r^{\frac{1}{2}} \times r^{\frac{1}{2}} \times r^{\frac{1}{2}}$$

$$(r_2 r^r)^{-\frac{1}{2}} (r^r)^{-\frac{1}{2}} =$$

$$r^{-1} \times \frac{1}{r}$$

$$\frac{1}{r^2}$$

$$\sqrt[n]{a} = a^{\frac{1}{n}} = \ln a^{\frac{1}{n}} \Rightarrow a^{-\frac{1}{n}} \ln a = \frac{1}{\sqrt[n]{a}}$$

$$\frac{2\sqrt{r} - 1}{1 + \sqrt{r}} = \frac{2\sqrt{r} - 1}{\sqrt{r} + 1} = -\frac{1}{\sqrt{r}}$$

$$a = \sqrt{(r - \sqrt{r})^2} = \sqrt{r - \sqrt{r}}$$

$$\left(\left(a + \frac{1}{a} \right)^r - r \right)^r = \left(a^r + \frac{1}{a^r} + r - r \right)^r = \left(a^r + \frac{1}{a^r} \right)^r$$

~~$$r - \sqrt{r} + \frac{1}{r - \sqrt{r}} = r - \sqrt{r} + r - \sqrt{r} = r$$~~

$$\frac{1}{r - \sqrt{r}} \times \frac{r - \sqrt{r}}{r - \sqrt{r}} = \frac{r - \sqrt{r}}{1} = (r - \sqrt{r})$$

$$(r)^r = r^r \quad (t = r^r)$$

$$\sqrt{u+a} = u \quad \sqrt{u-\varepsilon} = v \quad u-v = r \quad u^r - v^r = a + \varepsilon$$

$$\Rightarrow u^r - v^r = (u+v)(u-v) = a + r \quad u+v = \frac{a+r}{r} \Rightarrow$$

$$\sqrt{u+a} + \sqrt{u-\varepsilon} - r = u+v-r \Rightarrow \frac{a+r}{r} - r = \frac{a+\varepsilon-r}{r}$$

$$\frac{a}{r}$$